EJINAIOX—5

AIR MICROMETER

G-003-d

ASLE (GRER) ZRVYro0%x—4 T O XY (PAT.)
COLUMN MODEL(FLOW TYPE)AIR MICROMETER f|0Wmec®(F’AT.)

e
» s s

ZERCT BICIE

How to fabricate multiple columns

ST ERBAEEITOSE . EHROEXRI =y (No.3100) EEH
D7—MZENTOyIEINR AR THERXR7OXY B TEET,
FOEEEF7OXAVIIERET—NAERBAEANYRELVYIH
NIA=YFTY,

When performing multiple places measurements, flowmec can be
easily fabricated to multiple columns by adding to basic units of
No.3100 required and right & left feet. The above picture shows a
three columns flowmec with a measuring head and master for
taper degree measurement.

# o
gl | B | RATI B S| HE
B numberof | width deepth hiegth weigth
model columns mm mm mm kg
No.3100 | — 34 2.2
No.3101 | 2 & | o4 3.8
single column
No3102 | 2B | 3 6.0
No.3103 | 3BR | 172 | 192 | 475 8.2
three columns
4585
No3104 | 4EX | 906 104
No3105 | SEX | a9 126
five columns
No. :

CRFECBUTIIRK (RUSEH) (EFRETHEET SV,

%1 No.3103 (3:&#z\) X50001%

Indication of number of columns and magnitication is required
when placing an order.

Ex)No0.3103(there columns)X5000

TAXy 7B HIETEEERNIEREOE(LET—/NEROTO
—MIEHTHKRETRT SEELEBAERTT

BEY AT LIETOXAYIEFEAMENYR ROV EDSEHRENT
‘l\ij-o

Flowmec is a precision relative measuring instrument that meas-
ures changes in airflow running through a slight clearance be-
tween workpiece and measuring head as read by the expansion
of a float in taper tude. The measuring system consists of flow-
mec main body, measuning head and masters.

1 7O0-POREMICEBNATOET, (BriEREED2%LRNTY)

220NEEEREHATEETT . (7O—FEDOEEIL50001E-
20001 % #tH)

3 S NADBIEDHTO—NMIEEDFBIELIHUEE A,

4 EEFEOFHEEOAAFAEOEAPHMILL TV B/-DBREMICE
hTuVEd,

5 F—INEODRIHULFERZTT,

6 F—/VEIREREERLIGHEETT, (BEEELTEOHAIFTO
—h BERERIEZET,)

7 7—MEICEARI=YIEBMTAIEICEY A INIMISERICHE
BTEET,

1 Superior stability. (less than 2% active reading range)

2 Two standard magnifications can be shared.

(The body with the black float shares magnifications of 2,000
and 5,000 times.)

3 Since the upper damper is made of resin, it won't scratch the
float.

4 The maguification setting and zero adjusting knobs and located
separately, making operation easy.

5 Taper tubes are easy to remove.

6 Magnification standards of all taper tubes are the same.(in ca-
ses of changing magnification, change the float and scale
board)

7 Can be fabricated to compact multiple columns by adding basic
unit between feet.

28 DAI-ICHI SOKUHAN WORKS CO.



ZEJNAIOX—%

w
i

AIR MICROMETER G-004-e
®E £ fF = &
standard magnifli:(l:ation timE;s X1 0000 X5000 XZOOO X1 000
— ® n & um
m measuring range 20 40 100 200
- A RE pm
" /,_T ; 4 effective measuring range 15 30 70 150
10 I B B
um
i F scale volume 0.5 1 2 5
E & mm
| scale width 5 5 4 5
5 | 8 70 -F & =5 = #& ()
| F float color blue black black green*
13 #® = HM | IR O2% LR 4
‘ F S max.measuring error less than 2% of effective measuring range
IE—86 & B & B B b [1.5L1 (JIS B7535IC kB4 T TOME)
7 L ;a response time sec. | within 1.5 (value according to conditions specified in JIS B7535)
TIE. o R * £ & 2f8
'E 5 tolerance marker 2
‘ E AEA Y NEHO M10X0.75 U
E 8 measuringnt head connecting screw M10x0.75 male
| f#t T RE kPa | 245~785
‘ E air pressure supplied
= Exa=yhix MM | 34 (w) X477 (H) X192 (D)
‘ - 4 basic unit size
9 - :
i B K & & MM | 104 () X479 (H) X192 (D)
18— | & single column unit size
> i 17 EX1-vrEE kg | 2.2
basic unit weight
~ BXAKXFEER kg | 3.8
8 _é‘ &8 single column unit weight
‘ (GE) BEBFA000E I LS /P ERRELNET,
16 @ Note: The upper damper is exclusively for the specifications of the standard x 1000 magnification.
92

104

o

TR AI: 3101X500
U
B Em fEE

Bl

1.25L7b—L4

2. AR OEH

3. EOMRAR D EH

4. BERETERLU

5. 57— I\

6. BBtk

7.70—hk

8. [RFRIEE

9. F&IN
10. 52N
11. 57— /IN&S—JL (- TF)
12.58H/8—
13. 57— /NEHE L
14.L¥aL—%
15. R=IVNIVT (54085 yF a1 M)
16. FIEA v FRA#F (M10X0.75)
17.7—h (H)

18.7—h (%)

1.column flame
2.magnification setting knob
3.zero adjustment knob
4.screw for secure the scale plate
5.taper(glass)tube
6.scale board
7.float
8. limitation indicator
9.lower damper
10.upper damper
11.tapered tube seal (upper and lower)
12.head cover
13.tapered tube holder
14.regulator
15. ball valve ($8mm with touch joint)
16.measuring head joint (M10x0.75)
17.foot (right)
18.foot (left)

HABREZBARICERDE R IHL ORI ICTHRA TS,

Note: Please contact us if you would like to change the number of colums after purchasing this product.

@7 IE—1 =y [ZAME/L—4,INEIS R 82y F a1 bEL
IZ . AROOBMTDF =y IV, OUTHISE e85y F a1 > Mt]
Q2 FFa1—T . RE2m[AYMATNINTET4 IV E L=y MNERKR]

@filter unit (including a mist separator, OD¢8 touch joint or volute
nipple for inlet and OD¢8 touch joint for outlet)
@touch tube, 2m length (for use in cut off valve and filter unit connection)

DAI-ICHI SOKUHAN WORKS CO.

29

=X O« - X1 - AiHd



